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usB 1 X USB 3.0 947 A (500mA) |1 X USB 3.0 #1/F A (500mA) |1 X USB 3.0 917 A (500mA) |1 X USB 3.0 517 A (500mA)
A= 1 X 200 GB 1 X 200 GB 1 X 200 GB 1 X 200 GB
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= 1.36 kg (3 RR) 3.63 kg (8 AUK) 3.63 kg (8 AUK) 3.63 kg (8 AVK)
BE  BiE 0 ~ 40 °C (32 ~ 104 °F) 0 ~ 40 °C (32 ~ 104 °F) 0 ~ 40 °C (32 ~ 104 °F) 0 ~ 40 °C (32 ~ 104 °F)
SRE : JEEME -25 ~70°C (-13 ~ 158 °F) [-25 ~ 70 °C (-13 ~ 158 °F) [-25 ~ 70 °C (-13 ~ 158 °F) [-25 ~ 70 °C (-13 ~ 158 °F)
R EME 90 % (FEELRVIE) 90 % (fEELRVIE) 90 % (FEELRBLIL) 90 % (FEELRLIL)
R IFENME 10 ~ 90 % (FETELRBVIL) 10 ~ 90 % (FEELRBVIE) 10 ~ 90 % (fEELRBVIE) 10 ~ 90 % (FEELRVIE)
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